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| Part A: Vocabulary and Grammar

| Directions: Choose the number of the answer (1), {2), (3), or (4) that best completes the senience,
| Then mark your choice on your answer sheet.

1- Governments usually —-—----- freedom of movement into and out of the couniry in time of
war, :
1) detect 2) induce 3) restrict 4} simulate
2-  You can only come on the school trip if your parents give their writien —--—— -
1) device 2) consent 3) critericn 4) inclination
3- The government -—-—— -- that the buildings would not be redeveloped in the historical parts of
the town.
1) tackled 2) confronted 3) committed 4) undertook
4-  She intends 1o ~————a— a medical career, but her father would like ber to study Jaw,
1) engage 2) resolve 3) aspire 4} pursue
3-  Students can be expelled at the =——-ceee— of the head teacher, and they cannot retarn to school
within a year after expulsion.
1) foresignt 2) judgement 3) alternative 4) discretion
6- The war would have ended if the enemy planes had not --—--- —- the cease-fire agreement.
1) violated 2) enforced 3) exceeded 4) attributed
7= Maths is a(n) --—---—- part of the school curriculum almost anywhere in the world.
1) eventual 2) Intrinsic 3) concurrent 4) sitmultaneous
8-  He said that if the annua! floods 1} R worse they would have to leave the area.
1) any 2) more 3) very 4) enough
9-  They asked the students not ——--—-— in the building once they had finished the test.
1) stay 2) stayed 3) to stay 4) staying
10- He bad two of his teeth ——--—n- at the dentist's round the corner.
1) extract 2) extracted 3) extracting 4) were extracted

i Part B: Cloze Test

Directions: Read the jollowing passage and decide which choice (1), (2), (3), or (4) best fits each "
{ blank. Then mark your choice on your answer sheet.

Two sailors were missing at sea afier rwo Greek-flagged ships (11) --------—- off the western coast of
Turkey and one of them sank. Ten sailors (12) --=------- board the sailing ship were rescued. The Pe/
Mariner sank afier it hit the Pel Ranger (13) —=emmmeme- seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) =---=enmn- heavy fog could have played a part in the
accident (15) ---------- the Dardanelles Strait.

11- 1) collided 2) colliding 3) that collided 4) were collided

12- 1)in 2)on 3) over 4) above

13- 1) all 2} with 3) some 4) every |

13- 1) say 2) said 3) saying 4) were saying

15- 1) near 2} was near 3) 1o be near 4)'11 was near
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Part C. Reading Comprehensicn .i
|

Directions: Read the following three passages and answer the questions by choosing the best |
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. |

The dense water masses that sink into the deep basins are formed in quite specific
areas of the North Atlantic and in the Southern Ocean. In these polar regions,
seawater at the surface of the ocean is intensively cooled by the wind; wind moving
over the water also produces a great deal of evaporation. Evaporation removes only
molecules of pure water, resulting in an increase in the salinity (saltiness) of the
seawater left behind. The combination of these two wind-driven processes is known
as evaporative cooling. The formation of sea ice can also contribute to an increase in
seawater salinity; saltier brine is left behind as the sea ice forms around it. Increasing
salinity depresses the freezing temperature of seawater, so cold liquid brine is formed
in inclusions within a honeycomb of ice. The brine progressively melts the ice just
seneath it eventually dripping out of the ice matrix and sinking. This process S
known as brine exclusion. The dense water masses formed by these processes flow
downhill at the bottom of the ocean, like a stream within the surrounding less dense
fluid, and fill up the basins of the polar seas. Jjust as river valleys direct streams and
dvers on the continents, the bottom topography steers the deep and bottom water
masses. Note that, unlike fresh water, saline water does not have a density maximum
at 4 °C but gets denser as it cools all the way to its freezing point of approximately -
s

Which of the following about ‘evaporative cooling’ is TRUE according to the passage?
1) It can happen over the entire region of the North Atlantic as well as the Southern Ocean.
2) It does not affect impure sea water molecules.

3) Seawater has the ability to cool atmospheric air in the process.

4) The increase in the salinity leads to an increase in seawater gvaporation.

The passage states, with regard to ‘brine exciusion’, thaf ---——-----v .

) it contributes effectively towards the formation of sea ice

2) the process decreases sea water salinity as brine is trapped within honeycombs of ice

3) it has a great impact on the progressive melting of ice in the polar reglons

4) brine can finaily manage te free itself from the ice itis caught in

We may understand from the passage that the basin of the polar seas are filled up with --
1) brine produced in the brine exclusion process

2) ice water developed in evaporative cooling

3) the saltier brine left behind as sea ice forms around it

4) dense water mass resulting from ice melting in the ocean

“Which of the following is TRUE according to the passage?

1) Saline water at the bottom of the sea freezes at the some temperature that fresh water does.
2) Deep water masses find their way at the bottom of the sea as they move along.

3) There are ‘valleys’ at the bottom of the ocean which direct the flow of deep water masses.
4) Deep water masses can sometimes move downwards if the surrounding streams are less dense.
The passage is concerned mainly with ------—-—- .

1} water formation in polar regions 2) basins of the polar seas

3) saline water and its importance in polar regions  4) formation of deep water masses
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A wave becomes a 'shallow-water wave’ when the ratio between the water depth and
its wavelength gets very small, and since a tsunami has an extremely large wavelength
(hundreds of kilometres), tsunamis act as a shallow-water wave even in deep oceanic
water. Shallow-water waves move at a speed that is equal to the square root of the
product of the acceleration of gravity (9.8 m/s®) and the water depth. For example, in
the Pacific Ocean, where the typical water depth is about 4000 m, a tsunami travels at
about 200 m/s (720 km/h or 450 mvh) with little energy loss, even over long
distances. At a water depth of 40 m, the speed would be 20 m/s (about 72 km/h or 45
mi/h), which is much slower than the speed in the open ocean but the wave would still
be difficult to outrun. Tsunamis Jpropagate outward from their source, so coasts in the
"shadow" of affected land masses are usually fairly safe. However, tsunami waves can
diffract around land masses (as shown in this Indian Ocean tsunami animation as the
waves teach southern Sri Lanka and India). It's also not necessary that they are
symmetrical, tsunami waves may be much stronger in one direction than another,
depending on the nature of the source and the surrounding geography. Local
geographic peculiarities can lead to seiche or standing waves forming, which can
amplify the onshore damage. For instance, the tsunami that hit Hawaii on April 1,
1946 had a fifteen-minute interval between wave fronts.

21- It is stated in the passage that ——-.
1) the speed of a shallow water wave is partly proportionate to the depth of water
2) the ratio between water depth and wavelen gth is verv small in shallow waters
3) tsunamis act as shallow water waves only when they have an extremely large wavelength
4) the acceleration of gravity and water depth cause tsunamis in shallow waters
22-  We may understand from the passage that —--—-—,
1) tsunamis, once created, are of equal energy and speed at nearly all water depths
2) tsunamis with less than 720 km/h speed will lose considerable energy at depths of 4000m
3) it is hardly possible to run away from the waves of a tsunamji even if they move at ‘slow’ speeds
4) land masses are often in the ‘shadow’ of tsunamis and are thus unaffected by them
23-  Which of the following is TRUE according to the passage?
1) Tsunami waves can cause most damage if they are symmetrical.
2) The development of a seiche depends on the geography around the tsunami.
3) Tsunami waves an April 1, 1946 hit the coasts of Hawaii continually for fifteen minutes.
4) The onshore damage -amplifies the force of the standing waves.
-4-  The passage is mainly about the —--ee-.
1) destruction tsunamis can generally cause 2) general characteristics of tsunamis
3) shallow water as opposed to deep water tsunamis 4) seiche as an important form of tsunami
25~ The word ‘propagate’ is line 10 most probably means —-
1) ‘raise’ ~ 2) ‘destroy’ 3) ‘spread’ 4) ‘produce’
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The movement of surface currents pushed by the wind is intuitive: we have all seen
wind ripples on the surface of a pond. Thus the deep ocean — devoid of wind — was
assumed to be perfectly static by early oceanographers. However, modem
instrumentation shows that current velocities in deep water masses can be significant
(although much less than surface speeds). In the deep ocean, however, the
predominant driving force is differences in density and temperature. There is often
confusion over the compenents of the circulation that are wind and density driven;
this 1s partially addressed. Note that ocean currents due to tides are also significant in
many places: most prominent in relatively shallow coastal areas, tidal currents can
also be significant in the deep ocean. The density of ocean water is not globally
homogeneous, but varies significantly and discretely. Sharply defined boundaries
exist between water masses which form at the surface, and subsequently maintain
their own i1dentity within the ibcean. They position themselves one above or below
each other according to their density, which depends on both temperature and salinity.
Warm seawater expands and s thus less dense than cooler seawater. Saltier walter is
more dense than fresher water because the dissolved salts fill interstices between
water molecules, resulling in more mass per unit volume. Lighter water masses float
over denser ones (just as a piece of wood or ice will float on water). This is known as
"stable stratification”. When dense water masses are {irst formed, they are not stably
stratified. In order to take up their most stable positions, water masses of different

densities must flow, providing a driving force for deep currents.

Which of the following is TRUL according to the passage?

|) Deep water masses are much more slow speed than surface waters.

2) Surface currents are pushed by the wind ripples of a pond.

3) Oceanographers were assumed to think there was no wind in deep ocean.

4) Current velocities are significantly influenced by modern instrumentation.

it is stated in the passage that -,

1) ocean water is not homogeneous but it is significant and discrete in density

z) wind and density driven circulations are often confused for each other

3) we know, to some extent, the ‘address® of tidal ocean currents

4) tidal currents are not equally significant in deep and shallow waters

The passage mentions that -———— —

I) water masses within the ocean stand in horizontal layers in relation to each other
2) there is no clearly defined water boundary for deep water masses

3) the density of water masses depend mainly on their salinity

4) expanding seawater is considerably warmer in less dense areas

Which of the following is TRUE according to the passage?

1) Deep currents usually move faster in highly saline waters.

2) Stable stratification causes light and dense masses to stay next to one another like ice.
3) Salt water is quite homogenous in its mass per unit volume.

4) Dense water masses do not become stably positioned in the absence of different-density water masses.

The word ‘“interstice” in line 16 is most closely related fo A ~~mwwmeeaee,

1) “drop’ 2) ‘space’ 3) ‘hole’ 4) “attraction’
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